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=4 35.5| — 223,426 { F 5 HT 29.5| 67 236
F ¥R 35.7] 21 31,914 { K % HT 33.6 | 42 437
& F W 34.21 36 3,114 | /NR I HY 36.8| 6 1,104
wm oW 3.8 1 16,285 |tk H HT 32.4| 53 454
B 36.6| 7 19,046 | 38 & MY 23.3] 19 163
fEg L ™ 33.7| 41 2,154 % & M 35.5| 25 639
ABEEN 33.8 | 40 5,510 | F & My 35.4 26 354
A= ] 36.3| 13 16,200 | B8 FF HT 35.3| 28 811
¥ H W 36.0 | 16 5,111 | #g L T 33.5| 45 436
= R W 32.1] 55 2,087 | 8k f HT 34.2| 36 410
=R h 34.2| 36 3,484 | 3k Hy 33.6 | 42 470
K B 35.8] 19 3,829 | B & HT 30.8 | 63 369
# g M 36.21 15 7,024 | R EHET 34.5( 32 1,725
H o4& m 35.4| 26 1,982 | JLHJLEHHT 34.4| 33 757
ANEL T 35.8 ] 19 1,216 | B% 3 HT 31.0] 61 930
1B il 33.4 | 46 1,537 | b & HT 35.0 29 630
BEH™ 3.1 5 6,119 |3 B #f 2.1 13 190
iE] il 36.0| 186 12,156 [ 2 R HT 33.2| 47 432
B o 31.2] 57 843 |85 2 34.1] 39 614
Mmoo 35.6| 23 11,085 | Z b H7 30.4| 66 304
ot T 36.5| 8 5621 |— & HY 31.1| 58 404
ANF R 36.3| 13 6,491 | BE R Hy 29.3| 68 351
KT H 36.51 8 4,06 | & £ N 31,1 58 436
Bg JIl 32.81 50 1,083 |8 F Hf 32.3| 54 517
$ram 36.4] 10 3,809 | & 1A M 24.5] 78 318
B E W 33.0'| 48 3,897 | B B MY 32.0| 56 416
E BN 32.9| 49 2,007 | K& &0y 26.:8( 74 483
WL 374 3 3,962 (38 FB HY 29.1| 69 291
PY {738 T 3.8 4 3,244 |11 f8 MY 32.6| 1 293
i e o] 35.0 1 29 2,47 K B OH 3.1 2 791
VAN : T ] 35,71 21 2,716 | W B 32.5| 52 488
B E 34.4| 33 1,688 | & i HT 8.4 72 256
a o 34.8| 31 L0017 E 1 Hr 28.6 | 170 257
G 4 3 HT 36.4] 10 1,020 |88 B HT 28.5| 71 484
2 E m 36.4| 10 2,291 = F M 25.8 | 15 177
B B # 25.31 75 03| MY 31.1| 58 218
=) 34.4| 33 2,166 | F A Hr 33.6 | 42 537
B 7/& Hy 35.6 | 23 2,489 | L 1 Hy 30.6| 65 245
A B K 22.71 80 159 |f0 H Hr 30.9| 62 216
* iy 35.9| 18 1, 399 | RiE/NEERT 25.21 11 277
T #% H 30.8| 63 271
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